Vol.9.Issue.1.2021 (Jan-Mar) ©KY PUBLICATIONS



http://www.bomsr.com Email:editorbomsr@gmail.com

RESEARCH ARTICLE

BULLETIN OF MATHEMATICS AND STATISTICS RESEARCH

A Peer Reviewed International Research Journal



DETERMINATION OF MOMENTS OF BINOMIAL MIXTURES USING RECURSIVE RELATIONS

Andrea Otwande

School of Physical and Applied Sciences, Kirinyaga University, P.O Box 143-10300, Kerugoya, Kenya

Email: aotwande@kyu.ac.ke DOI: 10.33329/bomsr.9.1.13



ABSTRACT

Mixed distributions have proved to be very important in modeling data whose distributions are heterogeneous. However determining their moments can be cumbersome due to the fact that their constituent distributions are different. This challenge can be addressed using the recursive relations which can be constructed through integration by parts technique. These recursive equations are useful in insurance industry where they are applied in calculation of total aggregated claims.

Keywords: Mixtures; integrations by parts; recursive relations; moments

1.0 INTRODUCTION

The process of obtaining probability distribution functions of binomial mixtures can be cumbersome given that the mixture is a combination of binomial and beta distributions which are discrete and continuous respectively. However their moments can be obtained using their recursive relations. A recursive relation is a mathematical equation which is based on a sequence such that the terms of the sequences generated depend on the immediately previous term. The recursive relations have been discussed in the literature by various researchers. Katz(1965) derived a recursive equation of the form

$$\frac{f(x+1)}{f(x)} = \frac{a+bx}{1+a}$$
 where x = 0,1,2,...

Which could be used to generate numerous probability distributions such as Poisson distribution, negative binomial distribution, binomial distribution etc. Panjer (1981) later obtained a recursive relation of the form

$$f(x) = \left(a + \frac{b}{x}\right)f(x - 1)$$

which he applied to obtain Poisson distribution, binomial distribution, negative distribution and geometric distribution using probability generating function techniques. Jewel and Sundt (1981) used Panjers recursive model of

$$xf(x) = (ax + b)f(x - 1)$$

to obtain Poisson distribution, geometric distribution using iterative technique. Several other researchers such as Hesselagers(1984), Wang(1984) etc followed the same pattern of deriving recursive models and used them to obtain many distributions and mixed distributions. However there were no beta-binomial distribution mixture obtained. This paper aims to formulate beta-binomial mixture in expectation form, express beta-binomial mixture in recursive form, use the recursive relations constructed to obtain their moments which include mean and variance using integration by parts technique.

2.0 METHOD

2.1 Classical Beta-Binomial distribution

The classical beta-binomial distribution is defined as

$$g(p) = \frac{p^{a-1}(1-p)^{b-1}}{B(a,b)} \qquad 0 0$$
 [1]

Classical binomial distribution is given as

$$m(p) = \binom{n}{x} p^{x} (1-p)^{n-x}$$
 $x = 0,1,2,...$ [2]

Beta-binomial distribution is constructed as

 $= \frac{(n-x+b-1)f(x+1) B(a,b)}{(x+a) {n \choose 1}}$

$$\begin{split} f(x) &= \int_0^1 \binom{n}{x} \, p^x (1-p)^{n-x} \, \frac{p^{a-1} (1-p)^{b-1}}{B(a,b)} \, dp \\ &= \binom{n}{x} \frac{1}{B(a,b)} \int_0^1 \binom{n}{x} \, p^{x+a-1} (1-p)^{n-x+b-1} dp \\ \text{Let} \qquad I_x &= \frac{f(x)B(a,b)}{\binom{n}{x}} = \int_0^1 \, p^{x+a-1} (1-p)^{n-x+b-1} dp \\ \text{Let} \qquad u &= (1-p)^{n-x+b-1}, \qquad du &= -1(n-x+b-1)(1-p)^{n-x+b-2} \, dp \\ dv &= p^{x+a-1}, \qquad v &= \frac{p^{x+a}}{x+a} \\ &= \frac{p^{x+a}}{x+a} \, (1-p)^{n-x+b-1} \Big|_0^1 \, + \, \int_0^1 \frac{p^{x+a}}{x+a} \, (n-x+b-1)(1-p)^{n-x-2} dp \\ &= \frac{(n-x+b-1)B(a,b)}{x+a} \, \int_0^1 \frac{p^{x+a} (1-p)^{n-x+b-2}}{B(a,b)} \, dp \\ &= \frac{n-x+b-1}{x+a} \, I_{x+1} \end{split}$$

$$\frac{f(x)(n-x)!x!}{n!} = \frac{(n-x+b-1)(n-x-1)!(x+1)!}{(x+a)} f(x+1)$$

$$= [(n-x)(x+a)]f(x) = [(x+1)(n-x+b-1)]f(x+1)$$

$$[(x+a)(n-x)]f(x) = [(n+b)(x+1) - (x+1)^2]f(x+1)$$
[4]

Summing the equation [4] over n we get

$$n\sum_{x=0}^{n}[(n+b)(x+1)-(x+1)^{2}]f(x+1) = \sum_{x=0}^{n-1}[na+(n-a)x-x^{2}]f(x)$$

$$(n+b)\sum_{x=0}^{n}(x+1)f(x+1) - \sum_{x=0}^{n}(x+1)^{2}f(x+1) = na\sum_{x=0}^{n-1}f(x) + (n-a)\sum_{x=0}^{n-1}xf(x) - \sum_{x=0}^{n-1}x^{2}f(x)$$

But

$$\sum_{x=0}^{n} xf(x) = \sum_{x=0}^{n} (x+1)f(x+1) = M_1$$
$$\sum_{x=0}^{n} x^2 f(x) = \sum_{x=0}^{n} (x+1)^2 f(x+1) = M_2$$

Therefore

$$(n + b)M_1 - M_2 = na + (n - a)M_1 - M_2$$

 $[(n + b) - (n - a)]M_1 = na$
 $(b + a)M_1 = na$
 $M_1 = \frac{na}{a + b}$

Thus

$$E(X) = \frac{na}{a+b}.$$

To obtain the second moment we multiply equation [4] by (x + 1) and sum the result over n.

$$\sum_{x=0}^{n} (x+1) \left[(x+a)(n-x) \right] f(x) = \sum_{x=0}^{n} (x+1) \left[(n+b)(x+1) - (x+1)^2 \right] f(x+1)$$

$$(n+b)\sum_{x=0}^{n} (x+1)^2 f(x+1) - \sum_{x=0}^{n} (x+1)^3 f(x+1)$$

$$= na \sum_{x=0}^{n} (x+1)f(x) + (n-a) \sum_{x=0}^{n} x(x+1)f(x) - \sum_{x=0}^{n} x^2(x+1)f(x)$$

$$(n+b)M_2 - M_3 = naM_1 + na + (n-a)M_2 + (n-a)M_1 - M_3 - M_2$$

$$[(n+b) + 1 - (n-a)]M_2 = [na+n-a]M_1 + na$$

$$M_2 = \left[\frac{na+n-a}{a+b+1}\right] \left[\frac{na}{a+b}\right] + na$$

$$M_2 = \frac{na(na+n+b)}{(a+b)(a+b+1)}$$

To get the variance we have

$$Var(X) = M_2 - (M_1)^2$$

$$= \frac{na(na + n + b)}{(a + b)(a + b + 1)} - \left(\frac{na}{a + b}\right)^2$$

Therefore

$$Var(X) = \frac{nab(n + a + b)}{(a + b)^{2}(a + b + 1)}$$

2.2 Special cases of beta-binomial mixture

2.2.1 Uniform Binomial distribution

Uniform distribution also called rectangular distribution (Johnson, Katz and Kemp (1992) pg 272-274)

Is a special case of beta distribution obtained when the parameters a=b=1

Thus

$$g(p) = \begin{cases} 1 & 0$$

The Uniform-Binomial distribution is

 $f(x) = \int_0^1 \binom{n}{x} p^x (1-p)^{n-x} g(p) dp$ where g(p) is the Uniform distribution.

Therefore

$$f(x) = \int_0^1 \binom{n}{x} p^x (1-p)^{n-x} dp$$
 [5]

let

$$I_x = \frac{f(x)}{\binom{n}{x}} = \int_0^1 p^x (1-p)^{n-x} dp$$

Using integration by parts

Let
$$u = (1-p)^{n-x}$$
, $du = -1(n-x)(1-p)^{n-x-1}dp$

and

$$dv = p^{x}, \quad v = \frac{p^{x+1}}{x+1}$$

$$= (1-p)^{n-x} \frac{p^{x+1}}{x+1} \Big|_{0}^{1} + \int_{0}^{1} \frac{p^{x+1}}{x+1} (n-x)(1-p)^{n-x-1} dp$$

$$\frac{f(x)}{\binom{n}{x}} = \frac{n-x}{x+1} \int_{0}^{1} p^{x+1} (1-p)^{n-x-1} dp$$

$$= \frac{n-x}{x+1} I_{x+1}$$

Therefore

$$\frac{f(x)}{\binom{n}{x}} = \frac{n-x}{x+1} \frac{f(x+1)}{\binom{n}{x+1}}$$

$$f(x) = \frac{n-x}{x+1} - \frac{n! (n-x-1)! (x+1)!}{x! n! (n-x)!} f(x+1)$$

$$[(x+1)(n-x)]f(x) = [(n-x)(x+1)]f(x+1)$$

$$[n+nx-x-x^2]f(x) = [(n+1-x-1)(x+1)]f(x+1)$$

$$[n+(n-1)x-x^2]f(x) = [(n+1)(x+1)-(x+1)^2]f(x+1)$$
[6]

The first moment is obtained by summing the equation [6] over n. Thus

$$\sum_{x=0}^{n} [(n+1)(x+1) - (x+1)^{2}]f(x+1) = \sum_{x=0}^{n} [n+(n-1)x - x^{2}]f(x)$$

$$(n+1)\sum_{x=0}^{n} (x+1)f(x+1) - \sum_{x=0}^{n} (x+1)^{2}f(x+1) = n + (n-1)\sum_{x=0}^{n} xf(x) - \sum_{x=0}^{n} x^{2}f(x)$$

$$(n+1)M_{1} - M_{2} = n + (n-1)M_{1} - M_{2}$$

$$(n+1-n+1)M_{1} = n$$

$$M_{1} = \frac{n}{2}$$

$$E[X] = \frac{n}{2}$$

To determine the second moment we multiply equation [6] by (x + 1) and sum the result over n.

$$\sum_{x=0}^{n} [(n+1)(x+1) - (x+1)^{2}](x+1)f(x+1) = \sum_{x=0}^{n} [n+(n-1)x - x^{2}](x+1)f(x)$$

$$(n+1)\sum_{x=0}^{n} (x+1)^{2}f(x+1) - \sum_{x=0}^{n} (x+1)^{3}f(x+1)$$

$$= n\sum_{x=0}^{n} (x+1)f(x) + (n-1)\sum_{x=0}^{n} (x+1)f(x) - \sum_{x=0}^{n} x^{2}(x+1)f(x)$$

$$(n+1)M_{2} - M_{3} = nM_{1} + n + (n-1)M_{2} + (n-1)M_{1} - M_{3} - M_{2}$$

$$\{(n+1) + 1 - n + 1\}M_{2} = (n+n-1)M_{1} + n$$

$$3M_2 = (2n - 1)\frac{n}{2} + n$$

$$M_2 = \frac{n}{6}(2n + 1)$$

$$Var(X) = M_2 - M_1^2$$

$$= \frac{n}{6}(2n + 1) - \frac{n^2}{4}$$

$$= \frac{n}{12}(n + 2)$$

2.2.2 Power function-Binomial Distribution.

Power function is a special case of beta distribution when the parameter b = 1.

Thus we obtain

$$g(p) = \frac{P^{a-1}(a)!}{(a-1)!}$$

$$g(p) = \begin{cases} aP^{a-1} & 0 < P < 1 & a > 0 \\ 0 & \text{otherwise} \end{cases}$$

The mixed distribution becomes

$$f(x) = \int_{0}^{1} {n \choose x} P^{x} (1 - P)^{n - x} a P^{a - 1} dp$$

$$f(x) = {n \choose x} a \int_{0}^{1} P^{x + a - 1} (1 - P)^{n - x} dp$$
[7]

Let
$$u = (1 - P)^{n-x}$$
 $du = -(n - x)(1 - P)^{n-x-1}$ $dv = P^{x+a-1}$ $v = \frac{P^{x+a}}{x+a}$
$$|_{x} = (1 - P)^{n-x} \frac{P^{x+a}}{x+a} |_{0}^{1} + \frac{n-x}{x+a} \int_{0}^{1} P^{x+a} (1 - P)^{nx-1} dp$$

$$= \frac{n-x}{x+a} |_{x+1}$$

$$\frac{f(x)}{\binom{n}{x}a} = \frac{n-x}{x+a} \frac{f(x+1)}{\binom{n}{x+1}a}$$

$$f(x) = \frac{n-x}{x+a} \frac{n! (n-x-1)! (x+1)! a}{x! n! (n-x)! a} f(x+1)$$

$$[(x+a)(n-x)]f(x) = [(n-x)(x+1)]f(x+1)$$

$$[na + x(n-a) - x^{2}]f(x) = [(n+1)(x+1) - (x+1)^{2}]f(x+1)$$
 [8]

To get the first moment we have

$$\sum_{x=0}^{n} [(n+1)(x+1) - (x+1)^{2}]f(x+1) = \sum_{x=0}^{n} [na + (n-a)x - x^{2}]f(x)$$

$$(n+1)\sum_{x=0}^{n} (x+1)f(x+1) - \sum_{x=0}^{n} (x+1)^{2}f(x+1) = na + (n-a)\sum_{x=0}^{n} xf(x) - \sum_{x=0}^{n} x^{2}f(x)$$

$$(n+1)M_{1} - M_{2} = na + (n-a)M_{1} - M_{2}$$

$$(n+1-n+a)M_{1} = na$$

$$M_{1} = \frac{na}{a+1}$$

Therefore

$$E(X) = \frac{na}{a+1}$$

The second moment is obtained by multiplying equation [8] by (x + 1) and sum over n.

$$\sum_{x=0}^{n} [(n+1)(x+1) - (x+1)^{2}](x+1)f(x+1) = \sum_{x=0}^{n} [na + (n-a)x - x^{2}](x+1)f(x)$$

$$(n+1)\sum_{x=0}^{n} (x+1)^{2} f(x+1) - \sum_{x=0}^{n} (x+1)^{3} f(x+1)$$

$$= na \sum_{x=0}^{n} (x+1)f(x) + (n-a) \sum_{x=0}^{n} x(x+1)f(x) - \sum_{x=0}^{n} x^{2} (x+1)f(x)$$

$$(n+1)M_{2} - M_{3} = naM_{1} + na + (n-a)[M_{1} + M_{2}] - [M_{3} - M_{2}]$$

$$(n+1)M_{2} - M_{3} = naM_{1} + na + (n-a)M_{1} + (n-a)M_{2} - M_{3} - M_{2}$$

$$[n+1-n+a+1]M_{2} = (na+n-a)M_{1} + na$$

$$(2+a)M_{2} = (na+n-a)\frac{na}{a+1} + na$$

$$M_{2} = \frac{na(na+n+1)}{(2+a)(a+1)}$$

$$Var(X) = \frac{na(na+n+1)}{(2+a)(a+1)^{2}}$$

$$Var(X) = \frac{(a+1)(n^{2}a^{2} + an^{2} + na) - (na)^{2}(2+a)}{(2+a)(a+1)^{2}}$$

$$Var(X) = \frac{na(n+a+1)}{(2+a)(a+1)^{2}}$$

2.2.3. Arc-sine-Binomial distribution

Given a beta distribution whose probability density function is given as

$$g(p) = \frac{P^{a-1}(1-P)^{b-1}}{B(a,b)} \qquad \qquad 0 < P < 1 \qquad a,b > 0$$
 Let $a = b = \frac{1}{2}$

Substituting in the above function we have

$$g(p) = \frac{P^{-\frac{1}{2}}(1-P)^{-\frac{1}{2}}}{B(\frac{1}{2},\frac{1}{2})}$$

$$g(p) = \begin{cases} \frac{1}{\pi\sqrt{P(1-P)}} & 0 < P < 1 & a,b > 0\\ 0 & \text{otherwise} \end{cases}$$

Since

$$B\left(\frac{1}{2}, \frac{1}{2}\right) = \frac{\Gamma\left(\frac{1}{2}\right)\Gamma\left(\frac{1}{2}\right)}{\Gamma(1)} = \pi \quad \text{which is}$$

an Arc-sine distribution with 0 < P < 1 a, b > 0

The Arc-sine -Binomial distribution is

$$f(x) = \binom{n}{x} \frac{1}{\pi} \int_0^1 P^x (1 - P)^{n - x} P^{-\frac{1}{2}} (1 - P)^{-\frac{1}{2}} dp$$

$$f(x) = \binom{n}{x} \frac{1}{\pi} \int_0^1 P^{x - \frac{1}{2}} (1 - P)^{n - x - \frac{1}{2}} dp$$
[10]

To get the recursive form, let

$$\begin{split} |_{x} &= \frac{f(x)\pi}{\binom{n}{x}} = \int_{0}^{1} P^{x-\frac{1}{2}} (1-P)^{n-x-\frac{1}{2}} dp. \\ \text{Let } u = (1-P)^{n-x-\frac{1}{2}}, \qquad du = -1 \left(n-x-\frac{1}{2}\right) (1-P)^{n-x-\frac{3}{2}} \\ dv &= P^{x-\frac{1}{2}}, \qquad v = \frac{P^{x+\frac{1}{2}}}{x+\frac{1}{2}} \\ &= (1-P)^{n-x-\frac{1}{2}} \frac{P^{x+\frac{1}{2}}}{x+\frac{1}{2}} \bigg|_{0}^{1} + \int_{0}^{1} \left(\frac{n-x-\frac{1}{2}}{x+\frac{1}{2}}\right) P^{x-\frac{1}{2}} (1-P)^{n-x-\frac{3}{2}} dp \\ &= \left(\frac{n-x-\frac{1}{2}}{x+\frac{1}{2}}\right) |_{x+1} \\ &\frac{f(x)\pi}{\binom{n}{x}} = \left(\frac{n-x-\frac{1}{2}}{x+\frac{1}{2}}\right) \frac{f(x+1)\pi}{\binom{n}{x+1}} \\ &\frac{(n-x)!\, x!}{n!} f(x) = \frac{\left(n-x-\frac{1}{2}\right)(n-x-1)!\, (X+1)!}{\left(x+\frac{1}{2}\right)\, n!} f(x+1) \\ &\left[(n-x)\left(x+\frac{1}{2}\right)\right] f(x) = \left[\left(n-x-\frac{1}{2}\right)(x+1)-(X+1)^{2}\right] f(x+1) \end{split}$$

The first moment of Arc-sine-Binomial distribution is obtained when we sum the equation [11] over n.

$$\begin{split} \sum_{x=0}^{n} \left[\left(n + \frac{1}{2} \right) (x+1) - (x+1)^{2} \right] f(x+1) &= \sum_{x=0}^{n} \left[\frac{n}{2} + \left(n - \frac{1}{2} \right) x - x^{2} \right] f(x) \\ \left(n + \frac{1}{2} \right) \sum_{x=0}^{n} (x+1) f(x+1) - \sum_{x=0}^{n} (x+1)^{2} f(x+1) &= \frac{n}{2} + \left(n - \frac{1}{2} \right) \sum_{x=0}^{n} x f(x) - \sum_{x=0}^{n} x^{2} f(x) \\ \left(n + \frac{1}{2} \right) M_{1} - M_{2} &= \frac{n}{2} + \left(n - \frac{1}{2} \right) M_{1} - M_{2} \\ \left(n + \frac{1}{2} - n + \frac{1}{2} \right) M_{1} &= \frac{n}{2} \\ M_{1} &= \frac{n}{2} \\ E(X) &= \frac{n}{2} \end{split}$$

The second moment becomes

$$\begin{split} \sum_{x=0}^{n} \left[\left(n + \frac{1}{2} \right) (x+1) - (x+1)^2 \right] (x+1) f(x+1) &= \sum_{x=0}^{n} \left[\frac{n}{2} + \left(n - \frac{1}{2} \right) x - x^2 \right] (x+1) f(x) \\ \left(n + \frac{1}{2} \right) \sum_{x=0}^{n} (x+1)^2 f(x+1) - \sum_{x=0}^{n} (x+1)^3 f(x+1) &= \\ \frac{n}{2} \sum_{x=0}^{n} x f(x) + \frac{n}{2} \sum_{x=0}^{n} f(x) + \left(n - \frac{1}{2} \right) \sum_{x=0}^{n} x^2 f(x) + \left(n - \frac{1}{2} \right) \sum_{x=0}^{n} x f(x) - \sum_{x=0}^{n} x^3 f(x) - \sum_{x=0}^{n} x^2 f(x) \\ \left(n + \frac{1}{2} \right) M_2 - \left(n - \frac{1}{2} \right) M_2 + M_2 &= \frac{n}{2} + \frac{n}{2} M_1 + \left(n - \frac{1}{2} \right) M_1 \\ \left(n + \frac{1}{2} - n + \frac{1}{2} + 1 \right) M_2 &= \frac{n}{2} + \left(\frac{n}{2} + \frac{2n}{2} - \frac{1}{2} \right) M_1 \\ M_2 &= \frac{n}{4} \left(\frac{3n+1}{2} \right) \end{split}$$

Therefore

$$Var(X) = \frac{n}{4} \left(\frac{3n+1}{2} \right) - \frac{n^2}{4}$$
$$= \frac{n}{8} (n+1)$$

3.0 CONCLUSION

Application of Beta-binomial mixed distribution in modelling statistical data whose distribution cannot be fitted to Binomial distribution alone is a milestone in statistical modelling. Equally important is the method that can be used to determine moments of the mixed distribution so constructed. Using integration by parts technique to derive recursive relations seem to be more motivating and straight forward to apply as demonstrated in this paper. It is also important to note that recursive relations are widely applied in insurance industry to determine total aggregate claims. Thus the focus on techniques of the construction of recursive equations and their properties is an achievement in making Beta-binomial mixed distribution more applicable.

REFERENCES

- [1]. Alanko, T. and Duffy, J.C(1996). Compound binomial distribution for modeling consumption data. *Journal of Royal Statistical society, series* 45,269-286.
- [2]. Armero, C. and Bayari, M.J (1994). Prior assessment for prediction queues. *The Statistian*, 43,139-153.
- [3]. Bowman, K.O., Shelton, L.R., Kastenbaum, M.A and Broman, K. (1992). Over-dispersion. Notes on Discrete distribution. Oak Ridge Tenesse; Oak Ridge National Library.
- [4]. Chan B.,Recursive formula for compound difference distributions. *Trans. Society of Actuaries*. 36,171-180,1984.
- [5]. Dorfman, R (1943): "The Detection of Defective Members of a large Population". *Annals of Mathematical Statistics* 14: 436-440
- [6]. Feller, W. (1968) An introduction to probability theory and its application, 3rd ed. John Wiley and Sons, New York, 300-303.
- [7]. Gerstenkon,T.(2004). A compound generalized negative binomial distribution with the generalized beta distribution. *Central European Science Journal, CEJM 2*, 527-537.
- [8]. Gordy, M. B. (1988). Computationally convenient distributional assumptions for common value auctions. *Computational Economics*, 12, 16-78.
- [9]. Hesselager O., A recursive procedure for calculation of some compound distributions. Laboratory of actuarial mathematics, University of Copenhagen, 1982.
- [10]. Ishi, G and Hayawaka R; On the compound binomial distribution. *Annals of the Institute of statistical mathematics* 12,69-90,1960.
- [11]. Klaus T.H,Anett L,and Klaus D.S., An extension of Panjer's recursion. Technische Universitat dresden, 1,284-297.
- [12]. Kotz S, Kemp A W and Johnson N L (2005)., Univariate discrete distribution, 3rd ed. John Wiley, New York, 283-285.
- [13]. McDonald, J. B. (1984). Some generalized functions for the size distribution of income. *Econometrica*, 52,647-665.
- [14]. Panjer H.H., Recursive evaluation of a family of compound distributions. ASTIN bulletin.12,22-26,1981.
- [15]. Panjer H.H and Wang S., On the stability of recursive formulas. Faculty of mathematics, Institute of Insurance and pension research, University of Waterloo, Ontanario, Canada.
- [16]. Panjer H.H. and William G.E., Computational techniques in Reinsurance models. Transactions of the 22nd International congress of actuaries, Sydney, 4,111-120.1984
- [17]. Skellam J.G., A probability distribution derived from the binomial distribution by regarding the probability of success as a variable between the sets of trials. *Journal of the royal statistics society* SeriesB,10,257-261.
- [18]. Sivaganesan, S and Gerger, J. (1993). Robust Bayesian analysis of the binomial empirical Bayes problem. *The Candian Journal of Statistics*, 21, 107-119.

- [19]. Sundt B. and Jewell W.S., Further results of recursive evaluation of compound distributions.ASTIN bulletin,12,27-39,1981.
- [20]. William G.E., Sundt and Jewlells' family of discrete distributions. ASTIN bulletin 18,17-29.1988.
- [21]. William G.E.and Panjer H.H ,Difference equation approaches in evaluation of Compound distributions. Insurance;Mathematics and Economics,6,43-56.1987.
- [22]. Willmot G.E.and Lin X.S., Lundberg Approximations for compound distributions with Insurance application. Springer, Berlin-Heidenberg-New York. 2001.